

Lineární rovnice 3

① $3x-1 = 2 \cdot (x+5)$ $zh.: L = 3x-1 \quad P = 2 \cdot (x+5)$
 $3x-1 = 2x+10$ $L = 3 \cdot 11-1 \quad P = 2 \cdot (11+5)$
 $3x-2x = 10+1$ $L = 33-1 \quad P = 2 \cdot 16$
 $x = 11$ $L = 32$ $P = 32$
 $L = P$

② $\frac{3b}{8} + 1 = \frac{2b}{4} \quad | \cdot 8$ $zh.: L = \frac{3b}{8} + 1 \quad P = \frac{2b}{4}$
 $3b + 8 = 4b$ $L = \frac{24}{8} + 1 \quad P = \frac{2 \cdot 8}{4}$
 $8 = 4b - 3b$ $L = 3 + 1 \quad P = \frac{16}{4}$
 $8 = b$ $L = 4$ $P = 4$

③ $\frac{a+1}{5} + \frac{a-1}{4} = 4 \quad | \cdot 20$ $zh.: L = \frac{a+1}{5} + \frac{a-1}{4}$
 $4 \cdot (a+1) + 5 \cdot (a-1) = 80$
 $4a + 4 + 5a - 5 = 80$
 $9a - 1 = 80$
 $9a = 81$
 $a = 9$ $L = \frac{9+1}{5} + \frac{9-1}{4}$
 $L = 2 + 2 = 4$ $P = 4$ $L = P$

④ $\frac{n+4}{3} - 3 = \frac{n-1}{2} \quad | \cdot 6$ $zh.: L = \frac{n+4}{3} - 3 \quad P = \frac{n-1}{2}$
 $2 \cdot (n+4) - 18 = 3 \cdot (n-1)$
 $2n + 8 - 18 = 3n - 3$
 $2n - 10 = 3n - 3$
 $-10 + 3 = 3n - 2n$
 $-7 = n$ $L = \frac{-7+4}{3} - 3 \quad P = \frac{-7-1}{2}$
 $L = \frac{-3}{3} - 3 \quad P = \frac{-8}{2}$
 $L = -1 - 3 \quad P = -4$
 $L = -4$ $L = P$